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MARKS

 15. (a) Solve the equation VLQ FRV+ =x x2 ° 6 ° 0 for ≤ <x0 �60.

(b) Hence solve VLQ FRV+ =x x� ° 6 2 ° 0 for ≤ <x0 �60.

 16. The point P has coordinates (4,k).

C is the centre of the circle with equation ( ) ( )− + + =x y� �
1 � �5.

(a) Show that the distance between the points P and C is given by + +N N2 4 13 .

(b) Hence, or otherwise, find the range of values of k such that P lies outside the
circle.

 17. (a) Express ( )VLQ FRV−x x 2
 in the form VLQ+S T Ux where p, q and r are integers.

(b) Hence, find ( )VLQ FRV �−³ x x Gx2

[END OF QUESTION PAPER]
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